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7 428 = 7 000 + 400 + 20 + 8 
 

What numbers need to go in the boxes below? 

 

1.  3 718   =  3 000    +                  +  10  +  8 

 

 

2.  2 569   =  2 000   +   500    +                   +  9 

 

 

3.  5 444   =                       +  400  +  40  +  4 

 

 

4.  6 666    =    6 000     +                     +  60  +  6 

 

 

5.  7777   =    7 000  +  700  +                   + 7 

 

 

 

In the number 9 876 there are: 

 

9         thousands     and 

8         hundreds      and 

7         tens               and 

6         units 

 

 

 

 

      

                                 
 

6.  How many thousands are there in  4 089 ? 

 

7. How many thousands are there in  6 123 ? 

 

8.  What is the value of the 6 in   4 690 ? 

 

9.  What is the value of the 4 in   3 457 ? 

 

10. What is the value of the 6 in   2 468 ? 

 

 

 
 
 
 

I think I get 

it! 
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  1. 700       
  2. 60        
  3. 5 000        
  4. 600        
  5. 70 
  6. 4 ( thousands)   
  7. 6 ( thousands)    
  8. 600          
  9. 400        
10. 60   

 

 

 

 

 


